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A Paper : IV

Roll No.

Time Allowed : 2:00 p.m. to 4:00 p.m. (2 Hours) Maximum Marks : 175

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-64 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 01:55 p.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

® No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

® Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

® Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

® Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

® Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

® There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

® The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

® The Examination is of 2 hours duration and will consist of 100 questions of 1.75 mark against
each question.

® There is no negative marking for any wrong answer.

® Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.
Very Important :

® The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘A’, then he/she should fill up ‘A’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘A’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

® The candidate has to return the Question Booklet along with the OMR Answer-Sheet to

the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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formtizent
T 01:55 INT 4TS PO T4 |
OMR U #[qq I QS Wan TeIh! bfEFe 3919 S19tS &mTh! A1 Al e |

® [P DR 4 TS @I AFT < T [Toqo & w2l /]9 I G =0
oS fr 7R |

® I (I 4RI SPIR TAR S[oTe B AN SIS Tlgydl T A PR Tevewi 3,
(S0B (S &P S} [l D 1 27 |

® Non-Standard OMR JRZ® 0 AHIAE o @5 799 Fired e 53w ~Es
[GIREGITSE

o PTG 0 Tl TolfEs /(@IeT “[qe YAIK AR IR M7, 2= (S STENCE A0l
IS TP A2 TG TS WF T OMR TGI9g IF eWFIFoUC Fmwes ol
R TS | GRICT PRI Seiffs /T@ie “iaqe oA I Fre 7604, (ST (1 (OSTHAT
eiFES e 4f T 2T |

o FIFINE FFEN 99 ARG U541 (rough) FIN eEFIFes @l 3oz QAR |
APFNE 461 (rough) TN TSI 71 A1 B (FICI 1767 Flarers A GRIRA | Teq o[q T
@2 {541 (rough) TN *F=HIRNE (9, (SRR T (O TG *[@q FeHR 1 727 |

o T 2T AW AN € Mg OMR Teq *iqez il 29 | ©1 T I W PR
Hfofe @It Teq 7 il w27 |

® ENIFOT TS ¥ OMR Teq ~Ig il 27 | *[=Ifw ¢z [HE OMR Ted 7o
ERPITSY TH1, SRBITS] T Y, GV AR FIeT el /2 =28 It 79 Fl

e |
® 7SI Y 2 T WE 2HFIFoS 100 5l &4 T SiF 2TSFn! AT AE 1.75 TIRE
IfF |

® o1 TG I (I eI 73 < |

® SRR ©2 1< AT AT OMR & 2[q® N&H/F 8l @1-9435 (-2 T2
R =N |

o TN (oSG AR T IR @ eHTeT PR TROIRE 27, @ SHIRI,
e, 0T, Ul T TG | 93 (FaS TGN A RFITO (@I e prerte Aiza e
(oIS PRI 27 Te 3R TRFREBIR2, 2T Wi Jfe1 9o A |

Important Instruction :

o Q% Moo @1l Siv® ATe LAFITET T'T 776! OMR Teq #iqq 3 siz® fori =7 |
TAIRITRCA, AN A2 T RFIFOT T ‘A’ QR OMR Te 7 S 5iZS ‘A
R AR =i WS 3@ ‘A’ 51 33 R AR | errres (et femte @RE Arefie
TEHNR AT THIT T LFIFoI FeAR A F T |

o 2 I Gl FAIT TS AN T 2SS OMR T@F “[dF FNTS LWFIFSIT
ol 7 =ifoR | et st er e 3 RRbo =’ |
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famet
79 01:55 TR #I0d @Pofaib Y@= =1 |

OMR Tes g AL JSLC® Wa e b I 7Jtd &fh AU TS 16 |

o 5! TS AP ST @ AN 9w eI oo @ S2@l S8 FF QA A
ST SRS (ST = A |

o I FR AT PR ToAR ST FE A T T T AT R Serew FCE,
W S 190 A0 Reas= F91 23 |

® T SHITRT OMR & “[(ad &) IS foied @I 779 eleitad Wi 2 =8 3
foT(® 27 |

o “RrFIFaIE R (e THFERS /(1T At TR FITE TR0 R(A, IR S A
FOF P 229 I TNE 4R GO OMR Tedo[@ W33 2#iafb W ol (eTid
TR | @I AR TofEs /@ie #ita AW oraR F w1 I, IR0 Ot SlES I
51°ly T 204 |

o SIS T GHEE ARG T (rough) TS 2E#08 (TS| BT FACS AR | 2 rwih
2T (rough) IS TG 1 T (FI7 LR FI9NS FACS AR 1 | AW 27wt @3 27!
(rough) & TELI(q T, O U2 TEHCGH JeIRe ! 20 1 |

® 1 2T &y AT <3 g OMR TGIIg (eT W | T A | W IR &
SRR (e Teaig (e I A |

® 2R[(TF A «Hb OMR @@ (edl 2@ | A= G2 (e OMR Tereitq emitas
T, SRS (PIC ROy AT SERIG #Tle1 / PIC 150D ¢ =il 5] 0% 2 |

® [FFPIF TR 2 I6] €3 2H7itg 100 b 2R AP R &TTPL AT &) 1.75 797 07 A
IR |

® o1 TG & (I NG 717 AP 1 |

® 3% O (FTF G “rHIE OMR T@RI0T <1161 /FICE I - &5 (7] 2T FACS 2(A |

o IR O R T ATS 2@ @ WA 2Bt IS 2@ | @~ SR,
e, AT, T @R QG | @3 GG TN A ORFAC @I @R SRS WL @RI
P 20 BRG] ALRANTR &S W 03 9/°l) FAEH |
Important Instruction :

o I Pvo 2eq Tvw Ao &Eeian @IC T7110 OMR Ses7taq M8 @ @14 =7 |
ST, “RIHIER NS IR (1T ‘A’ R OMR TeaiGa T it ‘A’ it =@
G B 78 ‘A’ T 10N TA0S 23 | IGg (I SPTHRS (YT ARTIg) SRR Raglh e
RIE G3R efEeafb It FH0S I |

o~ T TII% TR +IrE ArwIFics AP 20S OMR SeIItad A0t e &t fires
2 | & = e R St I Rt =@ |
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ferer=

9™ 01:55 fomfa femm e g et swaTeT |

TR AMYATE TS Tt gt fem Tre St @ ErEH A |

® 3IFTE o UM U Tal [SHRERE! 3G STHE T BeHT TS 3T @il TRTAT
BT ST 7T |

o Ifc Aian fommeamrn mia war @R wen MSiEE T e AuerEt fawren, feamet 3R gee
T ST |

® Jf¢ Non-Standard OMR Sheet STERA™ ST, fSA=@EET MaaT-maf I T8=1 (Roll
No.) & feremmsf &1 Srrmme T fort 9 |

o fomrraTRI ArfShifen gmm Jolmm /et feemsare @ gurg e 9, fifsere Seer
TR SAeITe @UETe Wiy A JHE 3R 3 Were @ faarg 3 OMR e faarsat
TR ST BH THE | SRaT o IS /el faemgeme Ay wsh aem gt gt
QT 76T THATHAT TG BT FATd BT GHAT AT SIRTH |

o fommrerEmn af e TG M TFE rough FETE T Ao @A g |
feATERT rough gERE AT foegaTea TET TEH TG @IS SRR R S | A
feemsama 3¢ 9 rough FERE @A 76T TR foeTTE@ UM WA SR ST |

o TTHE FHEMA U™ feFArEE THe” OMR A faems e wrme | mRf Seen 19
o St st foer ferette @ s = |

o T/ faags @mE TH OMR R faeg eFm@ sie | femeamn & 1 OMR
ATEATE AT FH-R : TR feersfi Trr o dqe foemst &', taf 's amfe safest
e =T TaT TEH Sefi=sit =l T |

® AFSIEH HHT 2 T2l AW HHE fSeisdd §i9 100 Ty 9T 3R A% el ST s
T yr@m™ 1.75 TR 9T |

o I fFrafy aram™ Set g’ =R 19 |

o fArEmRT OMR AT feremgama @fer et ST T SerasTia TEe QT 31Tq WTem-r
AT |

o 3TaTe & it glaenfy amem meme anieamn wisife @ foems stermi SiFmeR e
Taf JmE, SR 3T, oo, 9U, B 3 suis | 9 goreme weel fSSl T e sd-
I TS TS TSI ST ST BITERENT HTs BT §HHT AT A1 |
Important Instruction :

o fommrrarn e wHrEn wiwife g e % 'sEt OMR e faemsf for s o
" gt A | el afed femrmmn e aam faemef %' <A’ @t e et f
SR S et e ‘A o anme o for sieeEt e At e |

® 3THST WG ARTAE fam femreamren Amfemfs smamma OMR fmam faemgsit evna
i feetrg@ian ST gt ARTH | TSTee1 STHWIE EREt Taned fFems e S |
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frdw

U 01:55 &= | Y& Y9 Yierent 7 @ |

OMR STR-U= & UG I | Jg I ffga o € gg a4t T3 AaUHiges ug |

o vilieT Terd T foreft wiemeff =l wdian wam o Wiat SET 1o wier e Bt I i ITAR
Tl < St |

o fe I ghiemeff Torq qlient 3TUTAT B A1 W IfectRad FaHt 1 oot T 7, A1 39 3™
U T SR |

® Non-Standard OMR 3W-9= % I91 7q eqefl 379a1 Tet 4. I gfedent # fou 70 v w
wog 9 4 ford |

o uhianefi @i fritere g feu Tu 3ufef /e 3fic W & IR SEaTeR T TR, Ugeh 9 3T o &
g 3TN gEdl IR WA gfEdert 3R OMR IT-93 Flieres sl Hiod & o1g | TR Torelt wdiemeff =
Iufefa /Ue 3ffe W e gedter T foharm, @ 3| wdeneff s srufeera awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH TR GiEaehT § feU MU T W weh | wdieefi W
(rough) T IT-9 A7 31 Forell T8 & BT W & L Feh | I qhiemel ST-u9 WhE W
(rough) ST AT &, 1 TH AT T HoATeh Tal (haT ST |

o Tt Uyt o foru udiemedi ot shae tsh OMR STR-UH € & S | Tetdt §H R 91 Ig & &
fore =g stfaiter STR—u= =& oo <o |

® T If&ieht < T1Y T OMR IW-97 feam smom | wieneff 39 fifdse OMR Iw-93 # ¥
GfEent ., T GFETehl T I 3T HTHT 1 IS IcTe foreter Fraer & shaet el 31 et sicl-
Ui5e U | W |

® Ui ST FHA 2 FUS BTN 3 I¥ GfEqehl § 100 T & 31K Ysh Y9 o foIw 1,75 376 20 |

® T TR o o0 hIg TehRIcHeh 3Teha T8l ghm |

o TR 1 38 T8 T 3R OMR IT-T3 W hadl Tl AT AT SidA-Tig< 9 & gt FIAC
AT B

o wiereff araft glaen & fotw e wd T3 wea gfcasht &1 S Jod sg-wifyes g, S8 - srafie,
s, arel, fawdt 37t 31t | 30 ey o wren o et 8 foneft wehr 1 7fe o wmem § srgfaen
B T TSI TETG I & F&l HHT ST |

Important Instruction :

o ulignedi 7z gHivaa o & foh 39k g1 W9 YRRt &1 g OMR SW-U § &@ & ¥
T /ST R e @ | SeTEwREEy, afe udenelf fit uv gieaet @ @i ‘A’ @, @ OMR
ITR-U | hie ‘A’ foremn grm 3R gt A’ Rt el 1 g | afe T gftaert | g we an
30 e 9 S fremfa fore, A gema wdten Trfierss @ o va gferen aeem i % |

o Tlten WA BieH ¥ Uget udiendt i Fiersh % U OMR STR-US & WY U9 Yieaen ot s
AT BN | ST 3¢ STJUREd o w9 | FHel S |

SLRC-2022/P-IV/A 5 P.T.O.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

IR *AB! TR (FTGR CIeS TS 2

A Teee (B)
(C) et (D)
&) Tee (B)
(C) Traert (D)
“dTefeh” BIET TETTE B ael GRS Hiil § ?
(A) S gRm B)
(C) fo@ arm D)
“efeferr” wam frfotiaad fpm weh o G weg B 7

(A) o (B)
(C) Torm o D)
The term “Tirthankaras” is associated with
(A) Jainism (B)
(C) Sikhism (D)

st g
femg um
sitg o
feg o

Buddhism
Hinduism

GET IT ON
Google Play

TEq-7[7 OITSA (G ST ST ALENTE TN 0O H<eal 7= 2

(&) o (B) faept

(C) TR (D) FCsEN
TG54 ©RCSH (FIe iDL 0 STl T2t =73 2
(&) o B) faopmr

(C) TR (D) FcsEN
GT-TTTT YA 5 TSN FmT Sretegrs e ?

(A) Hf (B) Fgu

(C) W™ (D) forem
YT WA <1 98 TS ST SIS oh |1l EHT |Te & ial & -
(A) o (B) frgu

(C) e D) fism
The State of Northeast India that does not share borders with Bangladesh, is
(A) Manipur (B) Tripura
(C) Meghalaya (D) Mizoram
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7

fforie Rere T3 fowas Sifet =i (e :

(A) TIGT

(C) SRS

wfafet Q1! =G YT @ A |
A) TGS

(C) targoeTt

TR BT TSR TRseE! TR |
(A) T

(C) ATdett

fomm g |

(A) TR

(C) ATdett

Find the odd one out.

(A) Gangtok

(C) Agartala

(B)
D)

(B)
D)

(B)
D)

(B)
D)

(B)
(D)

e
G

e
o

SHRIA
T

ERIA
T

Imphal
Dimapur

GET IT ON
Google Play

“o11R IS T faferie (i St tre T=ifes ?

A R (B) 3
(C) Al (D) wiRTS?
“=112 RIS TG A (I Seilfog A0k I ?

A R (B) JIf
(C) oMt (D) w2
TS BRISTET BRI 'S B oIleslT € ?

(A) fafgm (B) =l
(C) T (D) WEd3
frafafed & @ @ a1 wg “amE FRE 3Hd | HEg R 7

(A) fafam (B) =l
(C) M D)
Which one of the following groups, is the festival “Lai Haraoba” associated
with ?

(A) Mishings (B) Karbis
(C) Garos (D) Meiteis

SLRC-2022/P-IV/A
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5. il 5Bl TI-2[1 SIS (P 512 SHES ?

A) e (B) TGS
(C) b D) TT
5. lest sl Ted o SIRTed (FIN SAES ?
A) e B) WG
(C) ZmreI D) THe
5. AT TohetTIT AT-HHST WA 981§ 2
(A) RIS (B) W%
(C) 3T (D) T
5. IO YD WA H hiver fehet fedra 2 -
(A) ITRAATH (B) TRIHH
(C) semmH (D) THAH
5. Where in Northeast India is Kangla fort located ?
(A) Agartala (B) Gangtok
(C) Itanagar (D) Imphal

6.  TTaeil® e I 9 wa fgfe w23 ?
(A) I I-31S R 432 TS I TS |
(B) B o7 = e 9RO (TR SeATRIR O |
(C) 3BF AT G202 Wbl Sf S2eet RIh! SIIeq GralereR [4e19Te 2o S[Es |
(D) ©IFeq 7EF2R AR} BUlb BEHTS LS |
6. IR (I Rrels e 7 2
(A) R I-3171 (delta) “J[R<IF 2@ FHI 9= (mangrove) I |
(B) B 4<% 32@T O (mica) SLAMT |
(C) [ Bl° @b ZeTSh I SRS G [N |
(D) SRS TV SRES IZEN NG BT SEGHAND SAES |
6. TTERM 3T e 7 2
(A) GretaAt 9-gia 31 g a3fgs wfim duy gm0 |
(B) WRA3T A S31-g3 ST ATShI fega greq |
(C) WAl Tre 3ATe UM Sedel &1 ST SITed 62 69 |
(D) Rl S5Hgs AR TeTe ¢ foeisn [easmE g |
6. FTHfaReadasmm s ad &g ?
(A) HeTaH S g o Had ¢ HU a HI AR |
(B) = e o1 ga w1 3Yh IATCH < R |
(C) X1 Toh Y -TT &7 B S WA % e véidied § |
(D) 9N 61 ge8 St FAdeea @R I 6t giet oa d e |
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6. Which of the following is NOT a correct statement ?
(A) Sundarbans delta is home to the largest mangrove forest in the world.
(B) China is world’s largest mica producer.
(C) Easter Island is a land area that is antipodal to India.
(D) India’s largest inland salt water lake is located in Gujarat.

7. OIFoq oA SN WS, TIGR T A0 FFMS {1 I (P! GF S CANSP 7ol FH'S
P14 qrere RFe Jrereo wel fRBICT ol 73 #1ifard 2
A «F B) ©ifs
(C) =I5 (D) Tsf

7. SRS Wb SR WU S (I Aretes e 18R e e bies 2o
T AMCEH FF© AGANST 7o fZPIC 9140 20O 23 2
(A) G (B) ©F
(C) b (D) fem

7.  9Ra fomma’ e @ifed, greui gRSH THRRRGT TS THE TeET =T g
TEY TSI TG EHSAT TR HASTHEE 2
(A) < (B) <
(C) g (D) e am

7. WRA % FAE TR % STER, Th T Gl o €9 H A1 I i o [T, Teh TSITeh
T o hH T A fohd TS § Tsh [T AT TSI Teieh go1 HIMT STHT =T 2
A) Th (B) =R
(C) U= (D) =

7. According to the Election Commission of India, in order to be recognized as a

National Party, a political party must be treated a recognized political party
in at least how many states ?

(A) One (B) Four
(C) Five (D) Three
8. Tfeiie Jfe g @F SHIFE @ — “Faa @ Tl SRR oiF R WG
w2 ?
(A) THEE HEW (B) dleT 9R4E foeT<
(C) Tole{leT 6 Cal<IceT (D) =i 1R
8. I Sw@fer™ Wiy «ft I Bfe, “waie SN Srers SfEFIg R Sif ©f St F993 17 2
(A) THAE SEW (B) 3l 954 Roer<
(C) TallITeTpae Cal<Icet (D) 51 PR
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8. BRI TR ATHST MM, “ISHEET 3N JHT Hi-m TR 317 @t ” 9
(A) =R ARG (B) oTed TiTTeR fereeh
(C) TIITeTshsyT TEet (D) v &
8. Trfeiftaa o 4 forem what o “wraaan 30 Ffeg TR B iR 38 8 S gm” 2
(A) TG AWE (B) Tt TMeR fereten
(C) TITe ST MGt (D) wa fog
8. Who amongst the following said, “Freedom is my birth right and I shall have
it” ?
(A) Chandra Sekhar Azad (B) Bal Gangadhar Tilak
(C) Gopal Krishna Gokhale (D) Bhagat Singh
9. (I S ST T fFT Ters AT fsix Iz e Cafest 2
(A) 1526 (B) 1536
(C) 1556 (D) 1576
9. ST AR @A T T3S ~Alfersias Iz T YBIH 2@ 2
(A) 1526 B) 1536
(C) 1556 D) 1576
9. T HASYRISE TheR STRI 3 ToRIe qHTga i 2 1 gragmn S 2
(A) 1526 (B) 1536
(C) 1556 (D) 1576
9. O < GELl SIS Tha 3T 3 si<l o HEseft |
(A) 1526 (B) 1536
(C) 1556 (D) 1576
9. The second battle of Panipat fought between Akbar and Hemu was in the
year
(A) 1526 (B) 1536
(C) 1556 (D) 1576
10. ©Feq FEBA S ©iqes [ReipTe! ffdibae @hodl e[y 0 Toionie [
MITS “ S99 518 72T (NOTA)” RFeh! Io/e ST 2
(A) 98, 2012 (B) <=4, 2013
(C) SIS, 2015 (D) SRS, 2014
10. SRR 5 S SRted [RuieTe! fEE F49 Q2mRIEE T© (©d [958 ZE

“TRA T2 I’ (NOTA)” &lel FCae ?
(A) 9T, 2012 (B) +te%d, 2013
(C) @I, 2015 (D) w3RF, 2014
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10. YRa wanfed fommeE 3me Arsen YR foueE st Mifé aRea™ 3e s
e 987° (NOTA) @t fifaes i aram segeme ?

(A) I, 2012 (B) a¥x, 2013
(C) SHar, 2015 (D) 3HHST, 2014
10. 9T o TS RN 3 W 3 faermaen At § qaeH faemen § “Suiied § @ 18 721 (Fier)”
UgA! IR e AR fehaT 2
(A) 37T, 2012 (B) %R, 2013
(C) <Had, 2015 (D) 3RS, 2014

10. When did the Election Commission of India first enforce the “None Of The
Above (NOTA)” in the voting option in the assembly election in India ?
(A) August, 2012 (B) November, 2013
(C) dJanuary, 2015 (D) October, 2014

11. “TEAER PRIERT I TG @i 5120 TiEs ?

A) wif= B) WA
(C) ifG= fO. 1. (D) e =TF
11. S@sifes R KR SMETS’ @7 T PR S[fEs ?
A) onif (B) T4 (The Hague)
(C) SFIMIG fTFH (D) FesH
11. grgierii fafsmenfaf mmems e’ sn swr ¢ 2
A) uf@ (B) &z
(C) =fmes (D) =i
11. STARER AT 1 T el (a2
A) uf@ (B) =
(C) aifymTes (D) =Fih
11. Where is the Headquarters of the International Court of Justice located ?
(A) Paris (B) The Hague
(C) Washington D.C. (D) New York
12. TS TS MRS =T GG MCF TGS Hifee ?
Q) ReMl TN TR %1 (B) < 77 TS SEmme!
(C) Tpla wifrze w1 (D) o gwere FaREe!
12. T S@Eis @ smeEE A6t iz See T ?
(A) RO e Keacs i Fi (B) i s=i ol fevcaieel
(C) TR Rvica iR (D) Rom e e
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12.

12.

12.

qeld AT e 6 GIFE WS A ?

(A) T TR 99T TRATE B (B) @i SRt geeem

(C) ToamETEET SIS g (D) T Se3TTd SEaRATRE! BEeHR
Tele T 1 fraferitad o © 9 91 shew Sniiret foham 7 o ?

(A)  foreslt qrm wlied <61 asiel (B) @rét w&T W ufay

(C) HoheH o fo1 HrraTE (D) ferger amn w faee

Which one of the following steps did the Rowlatt Act incorporate ?

(A) Forced to buy foreign goods (B) Restriction on wearing Khadi
(C) Imprisonment without trial (D) Restriction on travelling abroad

13.

13.

13.

13.

13.

ST THed MRER @i S 22y 7P qi2et R TJie M s 36 R{ie
emlw PR ?

(A) 1985, IR, SRSl (B) 1987, 2% WE2@l

(C) 1989, wifext [fq (D) 1992, 3fVal @IS

TIRCSA TS TR T T IR I &= T TR e Feafes 2

(A) 1985, IF. SRSl (B) 1987, 3% Wec2@l

(C) 1989, Fifew [ (D) 1992, 3Vl ST

e sitfe ferfSreets firfer smmsht femmefroe wrsen feman o s faerify gam aram 2
(A) 1985, 3R, WA (B) 1987, 3g weam

(C) 1989, WrfeH sfieft (D) 1992, sfeq st

WA o Helre =Arrerd A fohe au # 7ol uget! wiean =mneie 1 frgfad hi i fop frgea
fopar 2

(A) 1985, IR, VT (B) 1987, 3g HeaH

(C) 1989, wifem sfieft (D) 1992, 3few s

In which year did the Supreme Court of India appoint its first woman judge
and whom did it appoint ?

(A) 1985, R. Bhanumathi (B) 1987, Indu Malhotra
(C) 1989, Fatima Beevi (D) 1992, Indira Banerjee

14.

14.

I 576 TSNS (SIGIfFI S1e F T 77 21 T239 21 18 J=JC BT 741 27 2

(A) 1986 (B) 1988
(C) 1990 (D) 1992
SIS CSHIfAI @TEIte STy T 21 99979 (AT 18 I ! ZARST F© AN 2
(A) 1986 (B) 1988
(C) 1990 (D) 1992
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14. YRGS WfE THARE T UG TN IST3AT 9/l 21 SERAHRE 18 SErfEy o9
HTSATATS WHTSATE ST 7

(A) 1986 (B) 1988
(C) 1990 (D) 1992
14. WRA W 9AgH 1 HATUHR I S i = Y I FhT a8 # 21 99 § T 18 9
fem e ¢
(A) 1986 (B) 1988
(C) 1990 (D) 1992

14. The minimum age for acquiring voting right in India was reduced from
21 years to 18 years, in the year

(A) 1986 (B) 1988
(C) 1990 D) 1992
15. THI0O! 3 b0z ©iea qreie Ffermelq 2[1 fraics 2med Ffes ?
(A) 1911 (B) 1913
(C) 1907 (D) 1910
15. I THFR (@I I SRTSA A (@FeTFrel (=T Mace FSEs e ?
A) 1911 (B) 1913
(C) 1907 D) 1910
15. o« A3UTE3TE ferfewam Yraf Teiemafe o= feee 3T eem™H ?
A) 1911 (B) 1913
(C) 1907 (D) 1910
15. 37 A 58 o8 RA 61 TSI ! hicTehTdl 8 ool TAMIARd foham a1 ?
A) 1911 (B) 1913
(C) 1907 (D) 1910
15. In which year did the British transfer the capital of India from Calcutta to
Delhi ?
(A) 1911 (B) 1913
(C) 1907 (D) 1910

16. TRYET AEGTEIRTS W FIF GG Sl &N 9SS FS I :

(A) T qoleeiR (B) TS IEIZ2

(C)  ITo= IR (D) 0 I99019 (TR
16. TR GF AGTEIICH ST IR &L G2 JoTl Siiewwa FI it

(A ferm oreRR (B) TR TR

(C) XNEF IRCIIRE (D) IR IFAG (1212
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16. IEHM TSI GUTS THTE 37T T A ST TTaT3 TR Joul Me fhamst gan aae ?
(A) TR YGIIIETS (B) Y SUIIETS
(C) WA STIETS (D) T T TETS
16. FETH I HIcT o S TR T T 3T AT THE o Ut o -
(A) qUTHE YIRS (B) ShTHHT SRS
(C) WA STTERS (D) & ST TMElS
16. The Chief of the Ahom Military during the reign of Chuhungmung and the
husband of Mula Gabhoru was
(A) Purnananda Buragohain (B) Frashenmung Bor Gohain
(C) Khamsen Borgohain (D) Konseng Borpatra Gohain
17. T 5T “aTefq (Seeae o 2feal”s “Sizpan” ey firal t2feet 2
(A) 1867 (B) 1858
(C) 1876 (D) 1905
17. SIF0ST T (SR SR RICIIN Pl I70 (183! 2afeet ?
(A) 1867 (B) 1858
(C) 1876 (D) 1905
17. < 9IRS ‘argas’ @t “Irdfd Teer St 9 2T SeH ?
(A) 1867 (B) 1858
(C) 1876 (D) 1905
17. g ad o aRa o TR e o1 IR S 3utfer < 78 off ?
(A) 1867 (B) 1858
(C) 1876 (D) 1905
17. In which year the title ‘Viceroy’ was given to ‘Governor General of India’ ?
(A) 1867 (B) 1858
(C) 1876 (D) 1905
18. FEfR® IG! RRiif T2 =TS qceitens GRE Ee Fiefes '3 78 taw ?
(A) i gt (B) 1 PIH!
(©) T wppl (D) ~f% Syt
18. o0 SRS @ MR R @3 e qralete Sl <ifam aifde gty 2
(A) S P (B) AT P
(C) T oThE (D) %63 SFP
18. 9EcIvS BTN MieHaT 9 Giafasni werf 7 fhers 2
(A) eIt (B) f&far it
(C) Tfawi (D) =iy wIf
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18. dIEivie el uftye frefaftad fera gaenfaes wrerum s aftom 2 2

&) H s (B) wmaet srgegsh
(C) e g (D) drereff 3rggeht

18. Bodoland Territorial Council is a result of which of the following
Constitutional provisions ?

(A) Second Schedule (B) Seventh Schedule
(C) Sixth Schedule (D) Fifth Schedule
19. AR K-35 TS SEs ?
(A) S o™ (B) e
(C) " (D) FcsEN
19. SRR (Pakyong) RIFRWH SRES :
(A) SRS ST (B) PR
(C) wI%m (D) Rear™
19. TR SUSCLSAT TR G 7
(A) ITRUTEA T (B) Tufesm
(C) =M (D) Ty
19. U §ATE 3T el (AT B 7
(A)  IFRUTEA TG (B) fufesw
(C) =g D) fimm
19. Pakyong airport is located in
(A) Arunachal Pradesh (B) Sikkim
(C) Manipur (D) Mizoram
20. I8 4T TR ZoT0S SHRSRN Ol i &l ot (20 :
(A) @RER AT (B) 42
() =& D) ™
20. 2 T QT BRSBTS I (0P @ @ &1 o sfhe1 3
(A) IS 3T (B) oISt
() =fs (D) ™
20. TS TS FEHRgS T TEETS T HAET AR SIeTE3 07 ?
(A) &8 T BIS HEt (B) i ms
(C) #H (D) @
20. ¥ TS T T UTC A ITeH HoH 3T U] 3T & -
(A) T H A B) ™=
(C) =eft (D) ==
20. The most common animal figure found at all the Harappan sites is the
(A) Unihorn bull (B) Cow
(C) Elephant (D) Tiger
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21. ST OIS (T2 Wefa o =i ?
A 4 B) 5
€ 6 D) 7
21. AP AORFICS GG T IS (rings) SR ?
A 4 B) 5
€) 6 D) 7
21. Afafties fRtfthetiaTa qHe™ sEA ¢ ?
A 4 B) 5
€ 6 D) 7
21. 3R et § foha Boat BId 8 2
A 4 B) 5
€ 6 D) 7
21. How many rings are there on the Olympics flag ?
A 4 B) 5
€ 6 D) 7
22, TSR IS 52F 2R
(A) FET= @R (B) TfBAIAN
(C) Tt (D) foran
22. TSGR Al %125 27 ;
(A) IJAPT QT (Buenos Aires) (B) GIFGEIeN (Santiago)
(C) 3J7el (Bogota) (D) ol (Lima)
22, ITIUEHTH TSeTa TRTRHRT 77 7
(A) = 37 (B) dfeam
(C) st (D) formn
22, TSI T UL IR -
() = s (B) dfeam
(C) e D) e
22. The capital city of Argentina is
(A) Buenos Aires (B) Santiago
(C) Bogota (D) Lima
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23.

23.

23.

23.

23.

I ORI 2 PR 'S S-S :

A) TR (B) IETSTRLS
(C) @rpiG! D) TES

QIR G I 7 28

A) TR (B) =R
(C) wIrs! (D) IFT

TR TR TTETS HIed’ 371 @1 g ?

A) T (B) FHIATATTTX
(C) Sehrat (D) seih
CRUREI S g HR |

(A) HE (B) I
(C) Stehr (D) i

Air Asia has its headquarters in

(A) Mumbai (B) Kuala Lumpur
(C) Jakarta (D) Bangkok

24.

24.

24.

24.

24.

ferafertre CPICht, P-SHRa @< o sfieafbe feees 72 2

(A) TrEH-11 (B) feferry
(C) wEw= wfe D) ST
AT I PEATHIT SACDS e 73 ?

(A) TITME 11 (B) forir
(C) WiZPTE ot D) ST
BRI e HFE3T Hre[et HARfE foreen 71 ?

A) fTEw 11 (B) fermmem
(C) wIghIETTR H(hE D) 392
ot 8 et ot o et e T 2 2

A) fEw 11 (B) fore
(C) IR AR (D) 39
Which of the following is not an operating system for Computers ?
(A) Windows 11 (B) Linux
(C) Microsoft Office (D) Ubuntu
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25. RS 723 @GR I6 TS SRS T fExiem x5 2ot fRena 541 23 2

(A)  JleeeE! (B) =i
(C) IO D) =

25. 90 Sriie @B IO SIRTS SRFES AR 0 *Re%s RETE 910 1 27 2
(A) Jlegemrsed] (B) =%l (7d1
(C) GO (D) =

25. TEREM S931 STRaTeTE TRaf i feameri gl mma s 2
(A) s (B) 1 eeh
(C) = (D)

25. Trafafga @ @ f8 adum o TRa &1 g8 S feaer Rret 7 smar g 2
(A) SRS (B) e
(C) HHe (D) A

25. Which of the following is presently considered as the highest Himalayan
peak of India ?
(A) Kanchenjunga (B) Nanda Devi
(C) Kamet (D) Mana

26. TIL TR Gorsz 1 ersies fqradl sTerTe sizell o< T T PIee e @il

fet ool 1 27 ?
(A) SERA (B) el
(C) aFel (D) *row
26. RIS (29, GeRRM) qEa T @ Rl garsz w3 @R TR 70F
fifere z@R ?
(A) SERA (B) SRl
(C) Fe! (D) *o%
26. AT (MM stergaret yam) 7 Bafr smema st S <o | e
i 2an (@ ) e 2
(A)  yrfRed (B) 3TetehH=gT
(C) @&fd (D) =rdg

26. YATHS o a0l €0 (99 § SeTRTETe i FANT) # forw it sifteTa € bt T TR I §
Torem g W ST B 2
(A)  wrfieft (B) 3TcAHEl
(C) = (D) g
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26. Which mythical underground river is considered to have joined Ganga and
Yamuna at Triveni Sangam of Prayagraj (formerly Prayag of Allahabad) ?

(A) Bhagirathi (B) Alakananda
(C) Saraswati (D) Satadru

27. FERIie @@ ReF &FE6 vFFe @il =T ?

(A) SHE7Y (B) 7% il
C) ™ (D) T

27. forca SeaERre @RI FICs Tl 2 2
(A) BIETE 7Y (B) T 5%
(C) wlFdlw (D) @I

27. TERI Se@! i S G ST 2
(A) feeaf wmsf (B) TG g
(C) 8% (HW) D)

27. Tr=faiRaa @ fops Shie & AraT SITaT & 2
A) il wdl (B) gadar
(C) S (D) G

27. Which of the following is measured in Carats ?
(A) Steel rod (B) Milk fat
(C) Saffron (D) Gold

28. TYFT (I 4R ST ev7e fofe I JfAdpe Sae Fuiere g N

o ?
(A) AT =S (B) wifFe=e
(C) faersta (D) ferer e a1f
28. SRR (fossil) To7 fefie T 7fiKte SRR 2Fo2PT (@i SR =141 g 3 2
(A) GRS (Palaeontology) (B) &99¢ (Archaeology)
(C) 9% (Geology) D) ?ﬁ‘?{ﬁm (Geomorphology)
28. ST T W ggHaTe aHE faf STifEs s« s fawme drea ¢ 2
(A)  UAtIT=TCAS S EEIEICINE
(C) Sfiarerstt (D) STHRBIATSH
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28. LRI I i H IATET SAATLH] o TR T g T S o 3hige 8 qafad @ ?

A) e fasm (B) g fors
(C) v ot (D) ¥-3pfd fosm
28. Which branch of study deals with the history of life on Earth as based on
fossils ?
(A) Palaeontology (B) Archaeology
(C) Geology (D) Geomorphology

29, IRHNGEAR biol GRS A (IR 77 T2 91 2 ?

INIRGICITIER] (B) @@INGR
(C) wFBHGR (D) 2GIRGR
29.  IRRNGR BI%l A=A &) (S TZB IS = 2
(A) TEINGE (B) JIRRGE
(C) =GR (D) RGIRGR
29, Fd TESSI SEFETN TRYRE! gt ?
A) AR (B) Stnfiet
(C) Ufeai (D) ®rEgHi
29, TTIHSHIY GETE i AT o foTT fohe Iuehtur <t 3T fohal ST & 2
(A) R (B) i
(C) 3T (D) ETEgHie
29. Which instrument 1s used to measure atmospheric pressure ?
(A) Nanometer (B) Barometer
(C) Altimeter (D) Hydrometer

30. TII-CT (XeTS (B oo sy vom3, (IS @G i Sligd O JfE A ?

A) SIIER (B) wEE
(C) & (D) Aroew
30. TI-C4 (IAITS SIT! 41 (e TS &l T 0O & I 2 1T 367 2
A) =6 (B) W=
(C) W (D) e
30. W @ ToHTd ST ST Hed SIGIHTET SIE 6l TR e s fmr ?
(CVRRHES| B) &
© 1 D) &
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30. @I-WI T H, FoT A ATl EH o ohe He&T 4G H TolsT Shid @ ST A o o 83 & ?
A) I3 B) &
© (D) o
30. In a game of Kho Kho, how many members of chasing team enters the field
and sit on their knees ?
(A) Eight (B) Ten
(C) Nine (D) Seven
31. foferie (Y e el w2y ?
A o1& (B) <& oiw
() oItz (D) =R AW
31. T S@Eie MG SiRres 2R 7 ?
(A) Pty (B) 3 4B YR
(C) eI = (D) ool
31. TEMM SS3TT YA SHM SR 78T 2
(A) Temrsh (B) T WA T
(C) I uRhy (D) T
31. Frferad i & F T 1 et e T 2 2
INIRELIED (B) T i oTeT TieT
(©) fimdi gin (D) g
31. Which of the following is not native to India ?
(A) Chimpanzee (B) One Horned Rhino
(C) Pygmy Hog (D) Leopard
32. IR @R SR I ER I5F (IR ?
(A) T (B) bor=
(©) wizs D) forr
32. RIS T SRS GSR 9/ ?
(A) TAME (B) 30
(C) Y (D) f=
32. WRAM BTEUN SHIS AT ?
(A) <ECR (B) @9 (Banyan tree)
(C) wIRg (D) m
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32. STITUeRTRER TR T WA 1 TP 941 HH &1 8 ?

(A) <EER (B) =TE
(C) diu (D) m

32. Which is officially the National tree of India ?
(A) Deodar (B) Banyan
(C) Peepal (D) Neem

33. ‘S (ollel @RIGF S Gl NG 6

A) = (B) TS I
(C) IW G (D) <A il
33. Sylaifer siel @SS (Agnes Gonxha Bejaxhui) @ Gef2RTISICE Siel T :
Q) TREE (B) w&FEel 97
(C) MR el (D) PP fcafrer
33. TERIH SISl 3FHE Mg SR 31 St i 2
A) froes (B) &4l
(C) W & (D) foreer fsifean
33. TS 9™ @ THH i1 SRS i 3T TAeh S 9 H ST 141 & -
(A) HrrEa (B) swuld g
(C) e (D) foreex Feifea
33. Agnes Gonxha Bejaxhui has been more popularly known as
(A) Miraben (B) Arundhati Roy
(C) Mother Teresa (D) Sister Nivedita

34. I [P FFEE G AFe iR FRfge ?

(A) RGN Fwlm (B) TR TE

(C) «@=RIG S22 (D) &7 @G
34. T (BT ) PO SR FATRCE ?

A) @GR FEem (B) TR T

(C) <IPRIG wiZThIE (D) &« &G
34. HR AR UG HIgd (Codes) @ fegw=ism 44 ?

(A)  SSTHA Shepfer (B) dg3Tat O

(C) Ao FATGTEH (D) s
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34. AU & foru wig o1 Sifashr fopee fomam 2

(A) SSTHA Shepfer (B) dg3Tat O
(C) 37w JTETEH (D) H T
34. Who invented the codes for Telegraph ?
(A) Benjamin Franklin (B) Samuel Morse
(C) Albert Einstein (D) John Baird

35. SFAIbE 2T SA0S (T (NEFA) TR Srerens Siifee | NEFA T #Jfheith (202 :

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
35. RPN TTCNE {idE W NEFA 9 5f¢f 7l 1 2

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
35. ITNCIE STEUTHS Jewre! e NEFA f a1 aifersm ar 2

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
35. NEFA 190l 9 &1 8 — &1 foh S0t T91 ol Tget STHT ST o7 ?

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency
35. What is the full form of NEFA — as Arunachal Pradesh was known earlier ?

(A) North-East Frontier Area (B) North-East Frontier Assembly

(C) North-East Frontier Activity (D) North-East Frontier Agency

36. TS (PG T JUS: (TS “IIefe] F1 27 ?

(A) @ (B) =N

(©) T (D) TR
36. G (I TR &ITo2 (RIS THIsa el 23 ?

(A) ARk (B) &I

(C) T (D) wi=fl
36. TERI & HIE BREATE! IS Bt ?

(A) careft (B) 3™

(C) it (D) =il
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36.

36.
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frfaiRad o & ®F 91 R 787 €9 9 e | 71 9141 8 2

(A) fearedt (B) 3w

(C) dime (D) et

Which of the following festival is mainly celebrated in Kerala ?
(A) Diwali (B) Onam

(C) Pongal (D) Lohri

317.

37.

317.

317.

37.

G Ao PITE @I P2 BN Sy Hfafe ?

INIRERIS D (B) fapeyr SR

(©) T a2 (D) fRefy T

T BeTitq G alfsf i <[ Bfitq SifSea Seafecer ?

(A) Tt BrEe (B) T wra

(©) firdm a2 (D) e ST

T FIIYASTE Jfe TS TET B ST 2

(A) forge =g B) e R

(C) T =3 (D) e shrsget

Tore oo o o9 woT sifireht e T gry fwms g off ¢

(A)  Torem =g (B) i iR

(C) firm =g (D) forer <preeT

The male lead role in which movie was played by Zubeen Garg ?
(A) Mission China (B) Mission Kashmir
(C) Mission Chennai (D) Mission Kabul

38.

38.

38.

T3l (ue fFoiore Hic ferfifes 2

(A) E.CF. TR (B) 3.39. QT
(C) S[.CGF. TR (D) IR.GF. “f%®

‘Malgudi Days’ &% & fercafee ?

(A) RGP, T (B) .54, TR
(C) RGP, = D) .. g

Tl o= forsme@t | fermi 2

(A) AT, TERIAT (B) . AR, TR
(C) 3. THY (D) 3AR.%. ufed
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38. UGS S5 <hl TaAT fohmr i oft ?
(A) ARk, ALHI (B) .3AR. TEUH
(C) 3., T (D) 3AR.%. ufed
38. Who wrote the book ‘Malgudi Days’ ?
(A) R.K. Laxman (B) K.R. Narayanan
(C) R.K. Narayan (D) R.K. Pandit
39. (GI¥XR:
(A) SBAFGF @SR AT (B) 3FIfq 92 iw IR
(C) 3B 32 @RI @12 [GGEFT (D) A2 IR
39. G2
(A) RPArFEaF @Te 97 (Interstellar laser weapons)
(B) e 78 w@alq (Night vision binoculors)
(C) IS BoTl Aem 73% Sepraripidl 38 (Crawling land mine detectors)
(D) TRUREE SFRE (Unmanned ariel vehicles)
39. I 3 IE™
(A) ITEAR A9R 99 (B) #HTTE I gl
(C) HHEET UT oS W3 SRETIT (D) AR TG SR TS
39. THE:
(A) TETLR Ao BRAR (B) e fos quea
(C) foraedht oig am feeae (D) == el gaTs areH
39. Drones are
(A) Interstellar laser weapons (B) Night vision binoculors
(C) Crawling land mine detectors (D) Unmanned ariel vehicles
40. TS ST 4T AR Fo391 (4o Nifee ?
(A)  TorTalGoe Bl (B) IIRFT
©) TeRgAE (D) fag a1
40. =0 SRR W (F FHIe1 (TR 2
(A)  ToRTaiGw 7 (B) IRFCAX
(©) EgErl (D) fag g
40, TrEFY TS R ETEHAT e oA 2
(A) fireardas amm (B) N3 T
(C) drRg=E (D) faywesn
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40.

40.

fferfaa 9=t & 9, T Beard faae! & o1 ?
(A) fresdss g
(C) dagaw

In the following list, who was a football player ?
(A) Gilbertson Sangma
(C) Tayebunnesa

(B) =H
(D) g s

(B) Carfew Roy
(D) Mithu Baruah

GET IT ON
Google Play

41.

41.

41.

41.

41.

fTfafe <= IreHa SN =P SN PIe A2eT! 7123 ?
(A) ISICeTS B) ol
(C) FsEN (D) “AfRoxm
0 SCaire @ AT SPICER 0 SR SRR 7 2
(A) el B) Pl
(C) Fre=N (D) “fRowm
TME 5 TSSNIAT TS T THATIAT 2

(A) ATIE B) fufaw
(C) T (D) THTE SITA
Fr=ferftaa § 9 1 91 TS 3199 & T H9T {rE T8l i @ 2
(A) TS (B) farferpm
(C) ol (D) ufeaw sma

Which of the following states does not share border with Assam ?
(A) Nagaland
(C) Mizoram

(B) Sikkim
(D) West Bengal

42,

42.

42,

SLRC-2022/P-IV/A

2022 T SN TS T T @i 73 2l ?

A) & (B) A=

(C) SrETE D) @R
SIS 2022 S0 ST IR Tl (STt 20 fRe 2

(A) FEE (B) I

(C) SIFEEE D) @i
ST 2022 374 SEHH 6 et g% 3| ?

(A) STt (B) s
(C) dHAL (D) 7=
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42,

42.

SHERT 2022 H 318 W1 i &1 FFeAT s 737 o 2

A) STt (B) <

(C) AR (D) ErTE
Which district of Assam was created in January 2022 ?
(A) Bajali (B) Baksa
(C) Tamulpur (D) Hojai

GET IT ON
Google Play

43.

43.

43.

43.

43.

2021-22 JF SPTE JICSH (PICT Wifie Fffee ?

(A) =re e =l (B) SI&TSI Teel
(C) =g 3l D) IS ol
2021-22 IR So) SRR ACSH (& SFZINT SR ?

A) T e =f (B) rerst (el
(C) =g 3l (D) I (1<
2021-22 AR IR FATHH SToie@l TR TAFSHA ?

(A) fem= fag ot (B) 3t R
(©) g (D) T oy
37Em § feha 2021-22 1 &5t Ut fohat ?

(A) Teua foga wmt (B) ST A3
(OB SRy (D) Titer 7]

(A) Himanta Biswa Sarma
(C) Atul Bora

Who presented the Budget for 2021-22 in Assam ?

(B) Ajanta Neag
(D) Ranoj Pegu

44.

44.

44.

SLRC-2022/P-IV/A

fafeTTie i< i =he@d Rl /T SR ?

(A) TR (B) TR
(C) e (D) A

forca Srafre Meslem Wty R I wo@ niwe S S[rEs ?
(A) A (B) PG

(C) o (D) el
TR el CHTAT SAATYL GHTH AT F3TE § 2

(A) W (B) gefafs
(C) fewt (D) T
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44, fTr=fafea § @ & o < s 7<) & gfaof ae mfRa g 2
(A) == (B) gl
(C) fewt (D) TS
44. Which of the following river is on the south bank of River Brahmaputra ?
(A) Manas (B) Subansiri
(C) Dikhow (D) Ranganadi
45. RIS 29 feoTe (FFG! (2= WHRF 77 SeAme w2
(A) o9l cnreemiara (B) AT CoETians
(C) JGIBSNE eI (D) STRIGI Kl
45. 190 St Wy @I 2bTes S (e ?
(A) TorRE Coiteiarg (B) *fEIsIC CHNiewIsiE
(C) M8 Mo (D) SR CHiiEIsiE
45. TERM & THE 3T TS A9 fgTam g 2
A) fed dieife (B) Fwelire Higraiel
(C) wSTETE Hier™rte (D) TETETE HigHTA
45. Trafafea & @ #iF @t qe@ QU 3eTET 39618 8 2
A fomers feprd (B) TuTefiTe fbrsd
(C) whmsTia Nprg (D) TETET fbrst
45. Which one amongst the following is the oldest production unit ?
(A) Digboi Refinery (B) Numaligarh Refinery
(C) Bongaigaon Refinery (D) Guwahati Refinery
46. ffeire sz foos 28w (UNESCO) Rips @fog) (g (1! ?
(A) et 77 @ (B) WAETHH
(C) MM e (D) W= AER Tl
46. 03 SrErewE T @FG UNESCO @9 afszaie) 2 2
(A) ST Al At (B) WIETHL
(C) It (D) T SIE Tl
46. TEREM s=31 UNESCO 1 ®Iairai 39 aFers & ?
(A) Tt e g (B) gaerpst
(C) MR AT (D) AFE AR 53 g
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46. Tr=fciad ® 9 I Teh Iien! foad Ta 8 ?
(A) el & (B) greispfa
(C) e Hiet (D) WG TER 3ITH
46. Which amongst the following is a UNESCO Heritage site ?
(A) Majuli River Island (B) Sualkuchi
(C) Kamakhya Temple (D) Manas National Park
47. JIfEe! B SHic frafrfis @i e = e 2
(A) TG B) I iR
(C) it (D) Reite
47. e @ oo Fifeane! 1B S = Feafe 2
(A) TG B) I iR
(C) =its (D) wReis
47. HIoRET FRY3R uTeha 5« et 1 femmamma 2
(A) TeATETE (B) hIfel 31T
(C) =ma (D) wigmE
47. o UER e fefefea § @ forg et b A8 gar g 2
(A) TeATETE (B) <hIET AN
(C) ta (D) |
47. Kaziranga National Park does not touch which of the following districts ?
(A) Golaghat (B) Karbi Anglong
(C) Nagaon (D) Morigaon
48. PRATRE MG MRS T ISR BIIRS (@i o1 e FTIferge sRigs ?
(A) Rpep Aol (B) =sfms LIl
(C) e A (D) ANG *FIR
48. PRPTIIER MG MR 7 AR Bivifiice i Twiferge 2
Q) e epimarel B) =S A
(C) SIEi A= (D) AN *RFATR
48. ToreErr 1wty g feeigatt e amie s @t Mot § 2
(A)  Toruy e T (B) Teie3 Tl
(C) 3 R (D) sima Srepted
48. TR % 9 fo@iE o SO =md o foheent fasm we 8 2
(A) forsuy srarre T (B) THTES T
(C) 3IF=H IR (D) sfimd et ea
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48. Whose resting place is at Saraguri Chapori at Dikhowmukh, near Sibsagar ?
(A) Bishnu Prasad Rabha (B) Swargadeo Sukapha
(C) Ajan Pir (D) Srimanta Sankardev

49. ¥ FEs YFRINCS! (I o SR 2

A) GF AT (B) @< GoRRYT
(C) &= =R D) <F e
49. T3 QIS BFaE &if\oD] FMRET ?
(A) G (B) =T oNIRYS
(C) BF PM (D) BT IS
49. YN TegRIE! TR TREEHAT 94 ?
(A) T&AHS (B) % T STETG
(©) T3 D) T 3
49. Tore gall o Tegrr o T S et 2
(A) TS (B) T T wETet
(C) Te3Te (D) T M
49. Who established the Gurudwara at Dhubri ?
(A) Guru Nanak (B) Guru Tegh Bahadur
(C) Guru Angad (D) Guru Arjan
50. SPTNRI AIETHRS SIS F91 223 Sl SSeeal (Pl Siife] ?
&) wifETrs s (B) ZoIwIlS
(C) Sa! AFCP (D) Fmire
50. SPISI HEMDRCER &N SfSCal (3 Reer ?
Q) RTE AT (B) TSIwbE
(C) SR8 AP (D) Rmisre
50. TR FrayAH fifafem et wagh 1 gan a2
(A) 3133 Bfeh (B) 1 33
(C) et~ gifesh (D) forean =
50. 3rEfi fihen o vgeht Afgen STl s off ?
(A) 333 B (B) 3w ITRMA
(C) 3rawi gfch (D) fo=m U@
50. Who was the first female actress of Assamese Cinema ?
(A) Aidew Handique (B) Ebha Ashaw
(C) Abanti Handique (D) Vidya Rao
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51. AT NG A (22 Q, A 25 B I GG %d | SIS B 7 #1202 P I QRIS &1« P 1
G 7@ (22 R | R G&e Q T TS (& 470e 791 2

A) *PF (B) ==t
€) “@ (D) frg
51. Q= A 93 GFIE @M, @ B €3 4919 7@ | B 97 &1 21 P @7 F+071, T 4T 7@ R |
R eI Q 97 0% 75 ?
(A) *@F (B) ==t
€) ~= (D) forel

51. Q3 AW am@ & fommme s Ses™@ B 1 a@er fharsen | B T fofa a3 P 1 e
gt e’ fETe R | WTER R 81 Q ST @Gl getr ?
A fogE B)
(C) ToaETen (D) frwr

51. Q, A Sl Seheii! oig4 2, S B &1 Sohalial 9T 2 | B &1 et P shl 51 2, forent wehA 21 2
RIR, QT N@IR ?
A) T (B) == (31ha)
(C) s (D) fran

51. Q is the only sister of A, who is the only son of B. B’s wife is the daughter of
P, who has only one son R. How is R related to Q ?
(A) Father-in-law (B) Uncle
(C) Son (D) Father

52. TIEGHI &1'JF G5l WS Al IJSFRF 1 7-] BTS HF 2 GiFER [ 12-99
TS SR | M (SSTERF GRS A1 e el I, (S0S 21 ST [l 22-5F
F[TS AE | MBS JOTS [FieTers o 71 S0z ?

(A) 19 (B) 31
(C) 33 (D) 34
SPACE FOR ROUGH WORK
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52.

52.

AT (ZEWE N0 Aie AHE @0 7 OF T GIR 299 TS (Q@AF 12 O ZE
0z | I O SR 2 RS ©F At A 7 *TF 22 OF B T | Alffore
D ToE (R0 IR ?

(A) 19 (B) 31

(C) 33 (D) 34

BT BRI A GRS, S 311 M 7 1 31e e/ AR Ifeq 341 3ATTeT-shr
12 T 319 <Ha | i s8R Tat grat Sremremisa, S o1 smite 22 ¥ e
AR | & TN Yo H BRI € ?

A 19
©) 33

(B) 31
(D) 34

52. TISehi hi Uk Uferd H, 2T a1 ¥ Hiae 37 UeiH €@ ¥ 129 M W R | Ffe o 391 T
Y | ded od 8, a1 1Y 99 ¥ 224 TIH W 37 A4 2 | Gfeda | fohd cgeh @ 2

A 19
©) 33

(B) 31
D) 34

52. In a row of boys, Srinath is 7th from left and Prabin is 12th from right. If they
interchange their positions, Srinath becomes 22nd from the left. How many
boys are there in the row ?

A 19
©) 33

(B) 31
(D) 34

53. M 72 96 =6927, 58

87 = 7885 T, TS(T 79

(A) 7689 (B) 8976
(C) 6897 (D) 6978
53. AW 72  96=6927,58 87=7885OET79 86=7?
(A) 7689 (B) 8976
(C) 6897 (D) 6978
53. @72 96=6927,58 87=7885 A= T9 86=7
(A) 7689 (B) 8976
(C) 6897 (D) 6978
SPACE FOR ROUGH WORK
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53. AC72  96=6927,58 87 =7885AM79 86="2
(A) 7689 (B) 8976
(C) 6897 D) 6978
53. If 72 96 =6927, 58 87 ="7885,then79 86=7
(A) 17689 (B) 8976
(C) 6897 (D) 6978
54. TV @ T, + @ R, < W SR{T WE w @ 279 el g, (org
18+ 12 x4 — 5 I+ (R :
(A 25 (B) 35
(C) 40 (D) 33
54. M <+ WE T =R, + T KA 2, — T @I =W GR % A o 2 O
18+12x4—5 QI :
(A 25 B) 35
(C) 40 D) 33
54. Sfg ‘< ST RIS, “+ 3 THETR, ‘= 3 FEIAEE TR % AT TR BRAR
18 +12 x4 — 5 famrwT ?
(A 25 (B) 35
(C) 40 (D) 33
54. I ‘' w1 Fd 7 TR, 4+ H1 37 g1, = H 37 MO SR X w1 A 90T’ 7, @
18+12x4—5HIAAR
(A 25 (B) 35
(C) 40 (D) 33
54. If ‘+’ means ‘addition’, ‘+’ means ‘subtraction’, ‘" means ‘multiplication’ and
‘x’ means ‘division’, then the value of 18 + 12 x 4 — 5 1is
(A) 25 (B) 35
(C) 40 (D) 33
SPACE FOR ROUGH WORK
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55.

55.

55.

55.

55.

7,11, 19,31, , 67 TNON [ B9 RG22 :
(A) 43 (B) 47

(C) 51 (D) 45
R e b =1 : 7, 11,19, 81, 67

(A) 43 (B) 47

(C) 51 (D) 45
7,11,19,31, 67 %I 31a MEER foega am T1fw |
(A) 43 (B) 47

(C) 51 D) 45
IFAFA7,11,19,31, 67 HI[AUCE

(A) 43 (B) 47

(C) 51 (D) 45

The missing term in the sequence 7, 11, 19,31, 67 1s
(A) 43 (B) 47

€ 51 (D) 45

56.

56.

@I §F AFFIFE 2207 AT GARE 571 12:30 ITF 10 WG SR e iojzs
2 | IR SR @.f8. i 20 NG S0 termiozs e Fifee | «v.f3.
SR AP IS Torets 30 b “omsit ifzfest | sArmiea frdifas Tt
wifee

(A) 12:50 IS (B) 12:40 3l

(C) 12:00 3! (D) 12:10 I

ORI AP S & T qed 12:30 WO 10 NG +td &t e |
AR @918, 7 (/I 20 FG SICel CAteees | @9.F8. ARFIPIF (eqF e 1 T
QTF 30 G @RITe CTitatas | FIFIR (TSI 7o foet

(A)  12:50 96! (B) 12:40 96t
(C) 12:00 9! (D) 12:10 K=
SPACE FOR ROUGH WORK
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56. ST GHI AN 37 THIF g1 3719 12:30 ST 10 fire & gra. wa.fe. 1w 20 fime
Tmr wifgfiri o ge | waLfe. o1 sy T gm@En o @ wmie 30 fiMe e
QAN | 32ty T omem e awsn w1 9 2

(A) 12:50 et (B) 12:40 f&1
(C) 12:00 feet (D) 12:10 f&t

56. 3TETET, AR i & ¢ 12:30 91 § 10 Fiee vt Bt o Worwr s & | =99 MLD. &
20 T TeT 37T 3T o7 | |IETEhR o 7 o AR M.D. 30 e ¢l @ 15 | a1eTehi

o1 Tyt gug o
(A)  12:50 & (B) 12:40 &
(C) 12:00 st (D) 12:10 s

56. The Chairman enters the Assembly Hall 10 min before 12:30 hours to
conduct the interview. The Chairman was 20 min earlier than the MD. The
MD was 30 min late as per time fixed for the interview. The time fixed for the
interview was :

(A) 12:50 hours (B) 12:40 hours
(C) 12:00 hours (D) 12:10 hours

57. 2,6,18, 54, ...... EOER OISR LR

(A) 4370 (B) 4374
(C) 7443 (D) 7434
57. 2,6, 18,54, ...... FAOCS S5 ARG
(A) 4370 (B) 4374
(C) 7443 (D) 7434
57. 2,6,18, 54, ...... HIRETE U 8 & fergrasn sem
(A) 4370 (B) 4374
(C) 7443 (D) 7434
SPACE FOR ROUGH WORK
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57. ATHE 2, 6,18, 54, ...... HTFBATICE

(A) 4370 (B) 4374
(C) 7443 (D) 7434
57. The 8th term of the sequence 2, 6, 18, 54, ...... 1S
(A) 4370 (B) 4374
(C) 7443 (D) 7434

58. TPIC! 7B 7RI, (I GO RSP TR 20% S 50% TIET | IR GHI7 SeoIT®

=
A 2:5 (B) 3:5
C) 4:5 D) 7:5
58. T 73fb R4 O TR (AT AFH 20% 9% 50% @R | 771 72157 Soife
A) 2:5 B) 3:5
C) 4:5 D) 7:5
58. T T AT BN AW IFRTHIBR 20% TR 50% SR | o ST T T8 37
9 7
A) 2:5 B) 3:5
C) 4:5 D) 7:5
58. &1 TEATE Ueh el TE | ShEsl: 20% 3R 50% 31k &, il SIS Bl FTuTd B -
A 2:5 (B) 3:5
C) 4:5 D) 7:5

58. Two numbers are respectively 20% and 50% more than a third number. The
ratio of the two numbers is

A) 2:5 B) 3:5
C) 4:5 D) 7:5
SPACE FOR ROUGH WORK
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59. T 4,000 JELT ISP IS 12% I OO 18 T2 7S (2R :

(A) %216 (B) %720
(C) 360 (D) %960
59. T 4,000 BIFE TR 12% IR 2T 18 AT SA61 7T 77
(A) %216 B) T 720
(C) T 360 (D) T 960
59. @Il SN 12 T &R T 4,000.00 7 4 18 3776 TR He 98 ST ?
(A) %216 (B) %720
(C) 360 (D) %960
59. T 4,000 W 18 TEH | 12% Ufd ¥ <l g & 1i7d HTER0 11 2
(A) 216 B) T 720
(C) T 360 (D) T 960
59. The simple interest earned by ¥ 4,000 in 18 months at 12% per annum is
(A) %216 (B) %720
(C) 360 (D) %960

60. I 4T SR 893 @ 279 FHCE SR 193 CIT IR | GTRG! AT 47 (F 279

FEC T SN (2= :
(A) 3 (B) 25
(C) 5 (D) 33
60. CIITN @ RANF 893 Bl Sl FACH SAXE 193 ATF | 12 TRAMHBE 47 7 Sl
P S AP
A) 3 (B) 25
C) 5 (D) 33
60. TNE IAHERET 893 S THsAT 3G ATATST 193 | 9 TE IANHME! 47 S THISAT AT
T S ST 2
A) 3 (B) 25
C) 5 (D) 33
SPACE FOR ROUGH WORK
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60. & T G I 893 ¥ fawiiia foran Siram 2 a1 AW 193 Wt Bran & | & H©H Hi 47 9

forwfoa v W aw g
A 3 (B) 25
©) 5 (D) 33

60. When a number is divided by 893 the remainder is 193. If the same number
1s divided by 47, the remainder will be :

A 3 (B) 25
©) 5 (D) 33

61. 120 & QIS GBI FARPTS 45 [eq ) TEe oM | TN QERPTS T+ 30 & ZaR
QIS I, (S0 TS AT RGIRPTC! et et sl #iife 2
(A) 40 (B) 38fm™
(C) 36T (D) 32f™

61. 9F0 RARICT 120 T T[E SR GR 45 e @7 QR TIRAE F91 2R | T RS 30 Tl
2/q RERICT @91 0 SR ZIEGI0T TGo Il IR T Ho1d 2
(A) 40 o (B) 38 =
(C) 36 D) 32f=

61. TH FIST 37 AT 120 BUIHT § TR SAER 3 TF 45 7 4m@™ € | It o g&dae IeE
T 30 BUIHTHT ATHAT, 36T AT RS o BEISAT T8 Fifer ! g 2
(A) THE40 (B) @M 38
(C) dH 36 (D) &M 32

61. T BHEEE H 120 B 2 37 HioH H1 3 45 Tl = fow 2 | 37 30 3R o sEEw §
et &1 TTT, At HiSfel HieH & BEmaTE fehad fe e ?
A) 40 fe (B) 38fa
(C) 36f= (D) 32fe

61. A hostel has 120 students and food supplies are for 45 days. If 30 more

students joined the hostel, then how many days the hostel will run with the
existing food ?

(A) 40 days (B) 38 days
(C) 36 days (D) 32 days
SPACE FOR ROUGH WORK
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62. 20 3. A9eT YT T4@ @3w TorE (TS SA1SEE (AR TR | SHEASE AT (Tee 30°
Tl P SR | GEAMCIE GRS = 791 RAUsR Sl (2R :
(A) 10w (B) 17.32f.
(C) 8.16 1. D) 13T
62. 20 RO AR «FH %2 (ladder) T (vertical) SER A G (RS J0F S |
T=2foq Sfiw o1 Fa1 (IR Aot 30° | 7267 (r&AEIE i a1 o Tovo -
(A) 10 g (B) 17.32 s
(C) 8.16 13 D) 13T
62. TE M} TR 3@ 20 M. ARUREN JeaEn gHEH § | e g 30° @ @ |
AT A9 3T BN fomgrta Siamss o ?
A) 10 (B) 17.32 .
(C) 8.16fm. (D) 13
62. TH 20 HieX el i U HeAteR R TRl g3 @ | T ST W A1 30° T BV S 7 |
H1E1 o SR i T aTc] 167G hl HTs &
A) 10, (B) 17.32 .
(C) 8.16H. (D) 134
62. A 20 m long ladder is leaning on a vertical wall. It makes an angle of 30°
with the ground. The height of the point the ladder touches wall is
(A) 10m (B) 17.32m
(C) 8.16m (D) 13m
63. 95! 5 1000 I YLIITS Shoar a1 =g (== 22 6., | 5HICGE il 2o -
(A) 4.5 B) 2.1f.
(C) 2.8f. D) 3.5
63. I B 1000 SREE 22 fhefie 7g Sfom 7 | HIRAGR APTE -
(A) 4.5 B) 2.1
(C) 2.8f (D) 3.5
SPACE FOR ROUGH WORK
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63. HHE i@ W 1000 fifedr™ 3ma 22 fo6.fy. SR e | 9 grat w'Ee g 3

SIEIES
A) 4.5 B) 2.1fu.
(C) 2.8fu D) 3.5
63. T Uledl 1000 TRt 1 22 Toh. . 61 gt T KL Fehatl @ | Uigd 1 5= (Radius) 2
A) 4.5, (B) 2.1
(C) 2.8+ (D) 3.5
63. A wheel can cover a distance of 22 km in 1000 rounds. The radius of the
wheel is
(A) 4.5m B) 21m
(C) 2.8m (D) 3.5m

64. 10 ]I e A W ReRe & FRFGE SR 2429 FE I 0! A0 25 29
IR e G&e] R {plerre @emie 6 | T Rrees T5e oo 9 3 20T AT |

I &% T RIS Se1q T (R
(A) 55 = (B) 65 =4
(C) 583=7 (D) 60 =g

64. G0 FET 10 G P SR | GG SPTH &2 TR 3R FREAE 25 IO RCHR
GG e RS @M FCACRA | TRl RERROR 91T T 3 I 7MY AR | SRPTE

e PEFCE 0 29 ¢
(A) 553 (B) 65317
(C) 583vH (D) 60 IVK

64. 41 I BRI M1 78 wrEETfr 31, @ ST AR SR A A 25 9 SHiE e
SR Rresmn | fhem sEfed, BRIt eri S8 Tedqm 31 3 S @HEerE | AT

A BOTRE s@en g 2

(A) 559MER (B) 65 ¥R

(C) 58§ MR (D) 60 ITER
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64. 10 Tereh aTel b H, Teh Tegeh 31 FaTHgRd W qLd 25 9N i 371g 1 Teh 471 Figteh FHge
B TR | aRTTTeaEd, et 1 e 31 3 81 TS | HaTga et il g R
(A) 559 (B) 659
(C) 587 (D) 60 @

64. In a school with 10 teachers, one retires and immediately a new teacher of
age 25 years joins. As a result, the average age of the teacher reduces by 3.
The age of the retired teacher is
(A) 55 years (B) 65 years
(C) 58 years (D) 60 years

65. 720 T Rpid 26l @3 RpleRTe o1'q) Sl @R TR SIS 7 2 5 | SFATSCh!
1: 12 See e a1 @RER AeiS 27 #1172
(A) 60 (B) 120
(C) 180 (D) 240

65. 720 & [Rupidl P! 915 e (=0T GR TR SATS Be 72 5 | (R(E S R A 1
1 20O 201 RS o6 (0 S 30 21 ?
(A) 60 B) 120
(C) 180 (D) 240

65. ®1 720 HIIERTHT T8 GUIHIISE gamal TR fesadn= SHRmH Sums 31 e
7:5 | AU 1 2 1 THIecT, Ao fertredmn § fReasHmme 2

(A) 60 (B) 120
(©) 180 (D) 240
65. 720 BT % Teh Thel H TIShT T ASTRAT <hl TN 1 U 7 : 58 | ST 1 : 1 T
fotu 3R fopat ereferant w1 war fean s =nfzw 2
@A) 60 B) 120
(©) 180 D) 240

65. The ratio of the number of boys and girls in a school of 720 students is 7 : 5.
How many more girls should be admitted to make the ratio1:1 ?

(A) 60 (B) 120
(C) 180 (D) 240
SPACE FOR ROUGH WORK
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66. *IT 1 5l ST 50 135 PRI @l 2 : 3 Feyoiios 35 T 35 b (feet | 377 50 259

@IF AL (R
(A) 20 (B) 25
(C) 30 (D) 35
66. > 1 B @R 50 “RPIE @I 2 : 3 SIS 35 TPl &N FCACZ | 50 “IPIR T FRY] 2T
(A) 20 (B) 25
(C) 30 (D) 35
66. T8 3T 50 HETHST 2 : 3 &9 YIS YA 371 T 35 T SHYAT | 50 Hamgri i 93 2
(A) 20 (B) 25
(C) 30 (D) 35
66. M 1 %0 < faeni 3T 50 94 o f&ahi < 2 : 3 % 31U § T 35 wufEd fohaT | 50 T8
i Hrae e
A) 20 B) 25
(€ 30 D) 35

66. Shyam stored ¥ 35 in the form of 1 rupee coin and 50 paise coins in the ratio
2 : 3. The number of 50 paise coins are :

(A) 20 B) 25
(C) 30 D) 35

67. &We “3E3 GBI @R @I GF T IR AR [Keifers wiore vz | ftaks
Tax wﬁﬁwmww:

Fig. : Expenditure (in Lakhs)

(A) 90° (B) 45°
(C) 72° (D) 81°
SPACE FOR ROUGH WORK
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67. T SrEtie 3¢ foat ¥t e oDita AT JEE 02 e I | I IO Efero

N DR SINGAISERY ke
o i ol
foq : 435 (eT5F)
(A) 90° (B) 45°
€ 72° (D) 81°
67. TS HIEATN ST HHE hETH SRR TERe! R Se | @ (Tax) el a9
IR T AR ST S 7

M T (A1 319)

(A) 90° (B) 45°
©) 172° (D) 81°
SPACE FOR ROUGH WORK
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67. urs =1d forelt few ww o & feru fopet shut & = 1 foremor fe@mar @ | X (Tax) @ g

AT i 2 -

Fig. : =9 (qr@ ¥)

(A) 90°
(C) 72°

(B) 45°
(D) 81°

67. The pie chart shows the expenditure breakup of a company for a given year.
The angle subtended by the Tax segment is

Fig. : Expenditure (in Lakhs)

(A) 90° (B) 45°
(C) 72° (D) 81°
SPACE FOR ROUGH WORK
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68. BT %R W2 777 A Toiye Hacs! oo i :

(A)

(©)

68. Ty fo@ Fiine w3 o @G 1< A -

(A)

(©)

68. AN SR AR erarmgEl & grammit @t wrrg’ 2

(A)

©)

(B)

D)

(B)

D)

(B)

D)

GET IT ON
Google Play
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68. 3TEh{d J@AT ST T o foTT IueT STTRId hT = e :
A) (B)
(©) (D)
68. Select the appropriate figure to continue the figure series.
A) (B)
(©) (D)
69. NI oz (?) (B & 714l 3123 1Mf 2
14
22
34
41
53 ?
(A) 14 (B) 55
(C) 15 D) 45
SPACE FOR ROUGH WORK
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69. RIS B (?) SR G 7B 73 2

GET IT ON
Google Play

14
22
34
41
53 ?
A) 14 B) 55
€ 15 D) 45
69. dIq e 59 SHTUTST AT g1 2
14
22
34
41
53 ?
A) 14 (B) 55
© 15 (D) 45
69. TEFETE g (?) o T W HhIF € T8 3 =AML, 2
14
22
34
41
53 ?
A) 14 B) 55
(C) 15 D) 45
SPACE FOR ROUGH WORK
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69. What number should replace the question mark (?) ?

14
22
34
41
53 ?
Q) 14 (B) 55
(C) 15 (D) 45

70. BROTHER, HUSBAND, MEN
93 () T2 IS 751 2 AifboeiE efsfifig v fbaw! e 1 |

A) (B)

(©) (D)

70. TG (ST IMBTETR T AP TS0 @i DAl T Sl afsfirg 3@ ©f

foize F@l

2, FM, T
A) (B)
©) D)
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70. TETTE BHTH ATEBR TSR O™ AHGRE S5igs TTaTe- HIRHTRHT JERT S1fd 2

(A) (B)

©) (D)

70. 39 ARG 6 g Ht S feu mu Tt o " g9y w1 ged 3191 Sfdffca s g
WTg, dfd, ey

(A) (B)

(©) D)

70. Identify the diagram that best represents the relationship among the given

classes :

BROTHER, HUSBAND, MEN

(A) (B)

(©) D)

SPACE FOR ROUGH WORK
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Q. 71-80 : Read the passage carefully and answer the questions given below :

At last the bomb was made. The site chosen for the test explosion was the
desert region north of Almogordo, two hundred miles from Los Alamos. The
bomb was taken by road and placed on a gaunt tower, one hundred feet high
and weighing thirty-two tons, erected on the top of a hill. The code name for

1t was Zero Hill. Zero hour was 5:30 a.m. on Monday, July 16, 1945.

Oppenheimer himself was at the control centre about nine miles from
Zero Hill. There were a thousand spectators including scientists, government
officials and a strong security force. All not on duty were told to lie down flat,

face and eyes directed towards the ground and with the head away from zero.

At forty-five seconds to zero hour Dr. Joseph L. Mckibban of California
University set in motion a weird master robot which set other robots in
motion. More than five hundred miles of wiring were used to start the bomb.
Electronic impulses were set in motion and relayed messages; electrons
moved into position. Observers stood with coloured film over their eyes and

heads averted.

Overhead two B-29 super fortresses hovered, equipped with recording
instruments to test reactions in the atmosphere. Ten seconds before zero
hour a green flare warned the spectators to keep down. Then came the

blinding flash.

The whole area was suddenly brighter than the brightest day light, and
the bomb was a ball of fire. Even at nine miles, the heat was scorching. Then
came the tremendous roar and the heavy pressure wave, which knocked
down two men outside the control centre. And then came the cloud — the
mushroom cloud, all the colours of the rainbow, ironically beautiful surging
upto over 40,000 feet, over 10,000 feet higher than Everest. The great steel
tower had gone. Lead lined Sherman tanks took scientists towards the huge
sloping crater where it had stood, to see the effects of radiation on the surface

of the earth.
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71. Zero Hill was located in
(A) Desert region of Almogordo
(B) Desert region of Los Alamos
(C) Desert region north of Almogordo

(D) Desert region south of Almogordo

72. Hover means
(A) To remain in the air at one place (B) To move to and fro

(C) To circle around (D) To move up and down

73. The bomb exploded
(A) emitting heat, sound and heavy pressure wave
(B) emitting cloud and cloudburst
(C) without creating much physical disturbances

(D) creating a lot of physical and mental disturbances

74. Electronic impulses
(A) were not effective (B) relayed messages

(C) warned the spectators (D) greeted the spectators

75. The spectators included
(A) scientists, government officials and a strong security force.
(B) scientists, artists and a strong security force.
(C) scientists, a strong security force and footballers.

(D) scientists, technicians and a strong security force.
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76. Who was at the control tower ?
(A) Oppenheimer (B) McKibbon

(C) both Oppenheimer and McKibbon (D) Government officials

77. It is implied in the passage that the spectators were told to
(A) lie down flat, face and eyes directed towards the ground and with the

head away from zero.
(B) cover their eyes with coloured films and keep their head averted.

(C) lie down flat, face and eyes directed towards the ground and with the

head towards zero.

(D) cover their heads with coloured films and eyes closed.

78. B-29 superfortresses and Sherman tanks are used to
(A) check the effect of the bomb on the ground and air respectively.
(B) check effect of radiation on the ground and air respectively.
(C) check effect of radiation in the air and ground respectively.

(D) check the effect of the bomb on the great steel tower.

79. The beauty of the mushroom cloud is ironical because
(A) It knocked down two men outside the control centre.
(B) Of the devastating nature of the bomb.
(C) The bomb destroyed the steel tower.

(D) Clouds are not devastating.

80. A synonym and antonym for the word Scorching would be
(A) Searing, Soothing (B) Searing, Burning
(C) Soothing, Cooling (D) Soothing, Heating
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81. /20 x 45 +4/0.04 ++/0.64 I (22 :
(A) 26 (B) 31
(C) 36 D) 41
81. /20 x 45 +4/0.04 +/0.64 §F T
(A) 26 (B) 31
(C) 36 (D) 41
81. /20 x 45 +1/0.04 +~/0.64 3 7 371 &
(A) 26 B) 31
(C) 36 D) 41
81. /20 x 45 +1/0.04 +~/0.64 FTHAFR :
(A) 26 (B) 31
(C) 36 (D) 41
81. The value of\/20 x 45 + \/0.04 + \/0.64 18
(A) 26 (B) 31
(C) 36 D) 41
x 2 3x + 5y 6x+4y
82. zriﬁy_?),c—cw 3%y T 6x_y 1M
1 2
A 3 B) 3
1 2
© -3 D) —3
x 2 3x + 5y 6x+4y
82. zrﬁy— 3 T, @ gt oy SR
1 2
A 3 B) 3
1 2
© —3 D) —3
SPACE FOR ROUGH WORK
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_ﬂﬁg_g 3x+5y 6x+4y

82. IRy =g Ay T ey ¢
1 2
A 3 B 3
1 2
© —3 D) —3
x 2 .3x+5y 6x+4y .
82. y—g,?ﬁ3x_5y+ 67—y TR
1 2
A 3 B 3
1 2
© -3 D) —3
x 2 3x+5y 6x+4y.
82. Ify—3, then 3x—5y T 6x_y 1s equal to
1 2
@) 3 B 3
1 2
© —3 D) -3
83. MV CHICAI “IB5! TN 7R @9IFeT 190 2, (ST H(BIZOCF 7 TR 23

83.

83.

(A) 40 (B) 19
(C) 38 (D) 36
v I AT FRRE R @loIeT 190 2, O SITR M FHow 7RG 297 -
(A) 40 B) 19
(C) 38 (D) 36

A AR (AR AN) AR SETeEa Jfe 190, 96K AeE 935S gaied
FAfSEET AT ?

(A) 40 (B) 19
(C) 38 (D) 36
SPACE FOR ROUGH WORK
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83.

83.

fe dTe SHATTA @3l 1 AN 190 &, A1 3TH & Fed B 91 3
A4) 40 B) 19
(C) 38 (D) 36

If the sum of five consecutive numbers is 190, then the lowest number
amongst them is

A) 40 (B) 19
(C) 38 (D) 36

84.

84.

84.

84.

84.

@51 7j<fqaf AT AIRTET 2450 T 77 TR AN T[T ARG T2 :

Aa) 2 B) 3

©) 4 D) 5

TSN IR} AR =T 2450 (T B9 P 7o 0o TS =6 AW GIf 27

A 2 B) 3

©) 4 D) 5

1 SRS 2450 T ST ST 3T ST G 7

A) 2 B) 3

©) 4 D) 5

T BT T R 2450 1 T GOl a7 S 35 For o e S e, 7w R
A4) 2 B) 3

©) 4 D) 5

The least number by which 2450 must be multiplied to make it a perfect
square, 18

A 2 B 3

C) 4 D) 5

SPACE FOR ROUGH WORK
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85. M G & 20% RN I =W, (S Gell9 AN 492 G0 M T G by

*S[e*] BT < 31 2
2 2
A) 135% (B) 1435 %
©) 152% D) 162 %
85. M fofem o1 20% e =7 w7 i Bfm =i 6 =reiked FICe 201 ATS <0
(e 2N 2
2 2
A) 135% (B) 1435 %
©) 152% D) 162 %
85. Sfe ferifa ST 20% ST STATST T8 FE@X 311 9f Foid W TE AR 98 SiEiel EErE
WHRANTA ?
2 2
A) 135% (B) 145 %
©) 152% (D) 162 %
85. afe =ft it FHma H 20% ht ghg Bl 2, 1 Teh INAR I = o6 399 § fere wferera i
i} T =TET drfep si5te THE © ?
2 2
A) 135% (B) 145 %
2 2
© 155% (D) 165 %

85. If the price of sugar increases by 20%, by what percentage should a
household reduce its consumption of sugar so that the budget remains the

same ?

@) 132% B) 145%
2 2

(C) 155% D) 165 %
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86. p, q, r G FSfBI 3L ACS p & q T AL, q, WE q NFr IAAB. r R | p, q
I ¢ 9 .. B, (AR :

A) «q B) r
©) ar (D) par
86. p, q, r 9Tl foab M ATS p 8 q GI TG, ¢, IR q S r GTAANB. r | p, q S r G
.8, 2 :
A) «q B) r
©) ar (D) par

86. p, q, r 3T THATH WET(G SFRH STE p AR g .39 A1 M q, q 30 r (4 g.3m490
IS 1 | p, g AW r 4 g.3m81. A= AT ?

A) «q B) r
(©) aqr (D) par

86. p, g, r @I HEATd 39 TR & 6 p 31T ¢ o oEwH guHEed (LCM) q 8 31T g 91 ¢ 0
TETH TG 1 7 | p, q 3T r 1 ALTH GHTI BT

A g B) r
©) ar (D) par

86. p, q, r are three numbers such that the LCM of p and q 1s g and the LCM of
qg and r is r. The LCM of p, q and r will be

A q B) r
©) ar (D) par

87. 20 ./ ®@% 3 9fet@a® Bt &1 100 o™ aE @9 @@ eIl 1 76.:. @ @9
e A9 RETS (SO I [<pie] 7 :

A) 45 (B) 50 S
(C) 55 (D) 60 BEFS
SPACE FOR ROUGH WORK
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87.

100 f5R Teafa @3 @il alfs e 20 o sifen sifstae 1 feefiis Tl o7y
SO T | ([T (T SO FHCS T #I97 :

(A) 45 TS (B) 50 PIFY

(C) 55TTRY (D) 60 PIFY

87. 100 fr s=emst™ 8 27 3m 1 fo6. T, weumsh gt 20 fir./a. 7ew@ mafus s/ | g
TRAT S 3 3T oH TqH AR 2
(A) 4549 (B) 50%
(C) 559 (D) 60%
87. TH 100 Hict &eft 34 20 H./Hehg i THTWH i & =eic! g3 1 foh. . a8 % I I IR
HLA B | I T IR B o oI 27 gra fern men wm=r 2
(A) 45 TS (B) 50 T
(C) 55 hs (D) 60 %hs
87. A 100 metre long train moving in a uniform speed of 20 m/sec crosses a
bridge of length 1 km. The time taken by the train to cross the bridge is
(A) 45 seconds (B) 50 seconds
(C) 55 seconds (D) 60 seconds
88. 0.037 I AR FHH! (202 :
37 37
(A) 990 (B) 999
37 37
© To0 D) Tooo
88. 0.037 T3 S FABRT® T -
37 37
A) 990 (B) 999
37 37
© 150 (D) 1000
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88. 0.037 {1 Srgre@<! 4L A=
37 37
A) 990 B) 999
37 37
© To0 D) o000
88. Tk fY=Tsh &I H 0.037 1 T &
37 37
@) 990 B 999
37 37
© 150 D) To00
88. The conversion of 0.037 in the fractional form is
37 37
@) 990 B) 599
37 37
© 150 D) Too0o
89. —76F 3 Td 2T IR &N SIS 02 :
A -1 (B) 1
© 2 (D) -2
89. —76 (T 3 UF B Sl9l FIE ST :
A -1 (B) 1
© 2 (D) -2
89. —76 W 3 I THISAT HIA-T TSR ST
A -1 B) 1
C) 2 (D) -2
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89. —76 ! 3§ faveH T W AT TR :
A -1 B) 1
© 2 D) -2
89. The remainder when —76 is divided by 3, is
@ -1 B) 1
©) 2 (D) -2
90. YbI YEET (FIPTR 1 : 3 : 4 : 7 TS R | FCLI S T Il +A12f<6 2o :

90.

90.

(A) 120° (B) 140°
(C) 144° (D) 145°
G TQETER (PSS 1: 31 4 : 7 | IZGH R Food (@Il 12164 1437
(A) 120° (B) 140°
(C) 144° (D) 145°

T TS TATHR T3 T SE™ 1031 4 1 7 | AR 3T G3¥E @1 BRI
3 ST

(A) 120° (B) 140°
(C) 144° (D) 145°
90. THIGUA S BN HIFAANA1:3:4: 78 | T6H I 3R T B HIT o ofi= T A 7
(A) 120° (B) 140°
(C) 144° (D) 145°
90. The angles of a quadrilateral are in the ratio of 1 : 3 : 4 : 7. The difference
between the largest and the smallest angle i1s
(A) 120° (B) 140°
(C) 144° (D) 145°
SPACE FOR ROUGH WORK
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Q. 91 to Q. 94 : Insert the correct options in the blank spaces :

91. The tenants were asked to throw all recyclable trash into __
(A) the green big plastic bag
(B) the big plastic green bag
(C) the big green plastic bag

(D) the green plastic big bag

92. The process uses an innovative digital technology the products with as

many colours as the image contains.
(A) that imprints it (B) that imprints

(C) that it imprints (D) that imprints on

93. I quoted it from .

(A) Mind (B) Heart
(C) Soul (D) Imagination
94. The company because of the prolonged strikes and lockouts.
(A) went into black (B) went into green
(C) went into yellow (D) went into red

Q. 95 - Q.96 : Choose the correct pair of words which are SYNONYMS of each

other.
95. (A) Regent — Substitute (B) Monotony — Variety
(C) Ancestry — Posterity (D) Precept — Example
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96.

(A) Vacillate — Waver (B) Oscillate — Stand

(C) Undulate — Flow (D) Spiral — Drip

97.

Choose the correct pair of words which are ANTONYMS of each other.
(A) Lazy — Indolent (B) Glide — Drift

(C) Entire — Total (D) Obligatory — Voluntary

98.

Choose the option which will best replace the underlined words in the

sentence to make it correct :

“She done it to quick so it came out looking rough.”

(A) done it too quickly (B) did it too quick

(C) did it too quickly (D) did it to quickly

99.

Choose the correct option which best explains the meaning of the idiom

“To give up the ghost”.
(A) To exorcise a ghost (B) To die

(C) To be possessed by the devil (D) To worship the devil

100.

The application letter and the resume perform :
(A) the same task (B) two opposite tasks

(C) overlapping tasks (D) two different tasks
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